b | > | 6 |

and registered designs, copyrights, trade secret rights, and similar exclusive rights in industrial property connected

copyrights. Intellectual Property Rights as follows rights under the laws of patents, pefty patents, design patentfs
with the drawings are reserved by Hidria Rotomatika d.o.0.. Disclosure to any third patfry is strictly forbidden.

All dl:awings, regal:dléss of fEer, are owned -by<Hiaria< d.0.0. and are éfr-icf[y confidential and _prese_nf-

132 42 _
5542
LTl

SUCKING

-

AIRFLOW DIRECTION
SMER ZRAKA

DETAJL A:

@ 395 +1

455 +1
A

D L16 +1

A
\

Prikljucna shema 0302-0-0006 na listu 2

Connection diagram 0302-0-0006 on page 2
Podatki za nastavljanje in kontrolo motorja z

Fan setting and confrol data 0302-4-0101

DETAJL A:
1:1

IEEEEEG

T [ 8 [ 9 [ 10 [ 11 [ 12
ZAUPNO / CONFIDENTIAL
".r' o gi?glzaeﬁ'ggédnja Idrijac € DATE OR
. R10R-40APS-ES50B-02C01 0310-4-0071
£1-230-240V 50-60Hz 320W 2.15A 1520RPM code
& max.amb.65 C Ins.Cl.130 Th.Prot. IPS4 Class |.
| ErP: EffesﬁAG,B% (A,static) N=55,8 VSD infegrated ROT. <=@EK )

nalepka 0300-1-9478 T1

( WARNING! ﬁ )
Dangerous voltages!
Capacitor discharge time Smin!

=7

<>+05
Pozicija ventilatorja
Position of fan

Y

ventilatorjem 0302-4-0101

Vse pravice iz patentov, blagovnih znamk in modelov povezanih z risbami pripadajo druzbi Hidria Rotomatika d.o.o..
Vsak prenos tretjim osebam brez pisnega dovoljenja druzbe Hidria Rotomatika d.o.0. je strogo prepovedan.

Risbe so last druzbe Hidria d.0.0. in pr<edéfa<vljéjo po-sl(;vno skrivnost in so avtorsko delo.

1 | 2 | 3

L | 5 | 6 |

| 10

®
M12x1,5
(23-06,5)
M |
|
't +0,5
AN
AC AC Posodobljena nazivna nalepka, spremenjen podaftek za nazivno napefost. 23.03.2021 Uro$ K.
7, Risba v Windchillu je skladna z risbo v arhivu.
% Updated nominal data label, changed rated voltage data.
AB AB Popravljeni podatki o uvodnici z M12x1,5 (@3,5-@ 7) na M12x1,5 (B 3-B6,5), 26.04.2019  [Uro$ K.
v nazivni nalepki popravljen naslov podjetja. Risba v Windchillu je skladna z risbo v arhivu.
/— Cable gland data correction from M12x1,5 (@ 3,5-@7) to M12x1,5 (D 3-B6,5)
in nominal data label corrected company name.
Verzija Artikla: [Verzija risbe: |Opis spremembe: Datum: Izdelal:
Article revision: | DRW Revision: | Description of change: Date Produced:
POVRSINSKA OBD. NAZIV:
DATUM/DATE IME 7 NAME | SuRFACE TEXTURE TITLE:
KONSTRUIRAL / DRN:| 23.03.2021 Uro$ Kunc VEN T/L A TOR
e R10R-40APS-ES50B-02C01
Po’rrjeno/Approved KODA MATERIALA MASA:
MATERIAL CODE HAsS: KODA: VERZIJA ARTIKLA: |VERZIJA RISBE:
CODE: REVISION ARTICLE: |DRW REVISION:
NETOL. MERE/UNT7L55M2768_/77 nzJ 0370_4_00 77 A C A [
MERILO/FORMAT 0310-4-0071 TIST/SHEET:
75743 | E3O
9

| 1 | 12




and registered designs, copyrights, trade secret rights, and similar exclusive rights in industrial property connected

copyrights. Intellectual Property Rights as follows rights under the laws of patenfs, petty patents, design patents
with the drawings are reserved by Hidria Rotomatika d.o.0.. Disclosure to any third patry is strictly forbidden.

All drawings, regardless of form, are owned by Hidria d.o.o. and are strictly confidential and present

1 [ 2 [ 3 [ A
Connecting diagram 0302-0-0006 ZAUPNO / CONFIDENTIAL
[ s terminals POSSIBLE SOLUITIONS FOR CONTROL CIRCUIT / customer's circuit:
iSELV circuit (MOD-BUS, voltage input, fixed speed, sensors, potentiometer, pwm generator, current loop...)
i .-" <
| N iGREENG 1y ) o
i { H = MOD-BUS
i _ o serial com.
! N i BROWN o J o
|
1 max 10mA RED o é o
1 =
i * R (10k)Ll] 10kLl]
H >
| _ - YELLOW | 2 ol ]
| H i < =
i ~ i 5 .
i g H : g S PwWM 0-20mA loop
i g K
% BLUE =
: ® =10 2 0| PWM
1 % “"., - analog input _ sensor ) frequency input analog input
i [ONTROL."[ABLE 0-10V Max. speed (Variable resistance) potentiometer 1-10KHz 0-20mA
terminals
‘EE - .;'WHITE'-.,' < ol —
N | e
5% {owHITE i circui
S —— 0 < o — WARNING:
. { Btk - Before opening connection box switch off electric power!
] . 0 - o — - Dangeorus voltages, capacitor discharge time Smin!
= H Power-supply
e H i circuit
= - ! BLUE ilo = o —
GR'E' N/YELL-"C:]W NOTE:
||I f.\ +—10 @ O| — e Please read user's guide before putting the fan into operation.
Read user’s guide about analog inputs or mod-bus profocols
FAN MOTOR POWER CABLE
IMPORTANT:

This appliance is solely intended as a build-in component and should not be operafte oftherwise.
Do nof cycling the power supply for cycling operation mode - use control singnal!
High ‘In-rush current’ can occur during cycling power supply!

Risbe so last druzbe Hidria d.o.0. in predstavljajo poslovno skrivnost in so avtorsko delo.

Vse pravice iz patentov, blagovnih znamk in modelov povezanih z risbami pripadajo druzbi Hidria Rotomatika d.o.o..

Vsak prenos tretjim osebam brez pisnega dovoljenja druzbe Hidria Rotomatika d.o.0. je strogo prepovedan.

DATUM/DATE|  IME / NAME 2’ ZRV;? 3%5’;?)(%%5 /#Tf{f' V
KONSTRUIRAL / DRN:| 23.03.2021 Uros Kunc VEN T/L /4 TOR
o | BRnn] e T R10R-40APS-ES50B-02C01
POfFjEﬂO/AppFOVEd KODA MATERIALA FASA:

PATERIAL (00 HAsS: KODA: VERZIJA ARTIKLA- |VERZIJA RISBE:
CODE: REVISION ARTICLE: [DRW REVISION:

NETOL. MERE/UNTZLSgM.2768_m DZJ 0370_4_00 77 AC A[

MERILO/FORMAT 0310-4-0071 TRT/SHEET,

tal | E3-0
2

| 3 | A




	Sheet 1
	Views
	new_view_1
	right_10
	DETAJL A:


	Sheet 2

